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16. What’s the best answer when someone says, “How are things?” to you?
(A) What things? (B) Same as usual. (C) I don’t have a clue. (D) I like them.

17. Earthquakes are not predictable, but new detectors you to have 10 extra seconds to respond.
(A) give (B) allow (C) let (D) make

18. Due to its success in fighting the COVID-19 pandemic, Taiwan is now a for other countries.
(A) learning subject  (B) object to copy (C) standard nation (D) role model

19. The company was founded four decades ago; in other words, it has been in operation for

(A) 40 years (B) 40 months (C) 80 years (D) 80 months
20. Taiwan approximately 400 kilometers from north to south.
(A) measures (B) longs (C) has (D) goes to
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21. Which is the most appropriate response to “Why aren’t you going to lunch with us?”?

(A) I’'m not friends. (B) I had a late breakfast.
(C) Is it a question? (D) It’s my problem.
22. Possessing a skill can be more than having a pretty diploma sometimes.
(A) better (B) valuable (C) impressed (D) convenient
23. Cathy is extremely because she has exercised regularly for years.
(A) fit (B) satisfaction (C) likable (D) suitable
24. Junk food is unhealthy, but it is usually quite ; that’s why a lot of people like it.
(A) good taste (B) smells wonderful (C) flavorful (D) attractive
25. Tom and Jerry are identical twins and it’s hard to between them.
(A) tell the difference (B) separate (C) know who (D) confirm the identity
26. It’s difficult to achieve the goal of same work same pay between men and women although isa
government policy.
(A) salary fairness (B) equal wages (C) gender equality (D) equality for all
27. Talk to the if you have any question about the amount of pay you received last week.
(A) chairperson (B) chief secretary (C) accounting office (D) personal office
28. “Do you have minute? | need to you.”
(A) hear a story from (B) tell a lie to (C) have a chat with (D) play some music with
29. You have to if you want to play the game.
(A) enjoy the atmosphere (B) follow the rules
(C) know the results (D) take the money
30. “There is no need to ; the movie already started half hour ago.”
(A) arrive (B) rush (C) race (D) choose
31. Jack admitted that he should have listened to you. It means
(A) He didn’t hear you. (B) You didn’t speak.
(C) He didn’t listen to you. (D) You had told him.
32. “We’re celebrating Jimmy’s birthday this Friday. He’s 26.”
(A) turning (B) been (C) gone to (D) arrived
33. Mark is an interesting person and people like to be him.
(A) besides (B) as (C) around (D) for
34. Jay has trouble managing his money and he always at the end of the month.
(A) runs out of money (B) uses cash (C) in need of money (D) has to lend money
35. Matthew and Tony are buddies. They have known each other childhood.
(A) from (B) since (C)in (D) during
36. Taiwan Power Company is a company under the Ministry of Economic Affairs.
(A) private (B) state-owned (C) electric (D) publicity
37. Many sports events are held without because of the pandemic.
(A) guests (B) tickets (C) spectators (D) people
38. Gary spends three hours between home and work each day, but he doesn’t mind.
(A) riding (B) coming (C) commuting (D) transporting
39. Ken is really a good although he doesn’t seem to have a lot of muscles.
(A) athlete (B) cook (C) game player (D) gulf player
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40. “You’d better hurry if you want to . It leaves in half hour.”

(A) get the airplane  (B) meet the bus (C) take the taxi (D) catch the train
41. The weather has been . Sometimes the temperature drops ten degrees in one day.
(A) inconvenient (B) unbalanced (C) inconsistent (D) unstable
42. Some people are addicted to and they upload several posts everyday.
(A) internet (B) social media (C) intranet (D) blogs
43. It’s impossible to fashion because new models come out so quickly.
(A) keep up with (B) pay attentionto  (C) focus on (D) hold on to
44. Norma’s eyes are all red and swollen; she all night because of not passing the test.
(A) has cried (B) must cry (C) cries (D) must have cried
45. “Look at all the dark clouds coming in. It rain.”
(A) will seem to (B) will like to (C) must to (D) is about to
46. Taipei 101 the tallest building in the world, but it is still an important landmark in the city.
(A) has been (B) used to be C)is (D) is once
47.7Jake didn’t , SO the teacher thought he was not interested in the class.”
(A) sign up (B) write down (C) turnin (D) call out
48. No motor vehicles are allowed to enter the pedestrian zone. What is a pedestrian?
(A) a person (B) a walker (C) a passerby (D) a bicycle rider
49. Children learn to speak by their older family members.
(A) learning (B) studying (C) imitating (D) seeing
50. Which one is the closest to “find out” in meaning?
(A) learn about (B) identify (C) look for (D) uncover
51. My best friend’s father wanted to me a job, but I said no to him.
(A) provide (B) supply (C) suggest (D) offer
52. The customer who made the complaint accepted my explanation without questions.
(A) further (B) answering (C) worst (D) little
53. By garbage, we can reduce the amount of garbage put into our environment.
(A) keeping (B) giving away (C) hiding (D) sorting
54. The workers have been instructed to follow the SOP. “SOP” stands for
(A) simple operation process (B) single operational plan
(C) standard operating procedure (D) singular operative progress
55. Heather is a person. She doesn’t talk much.
(A) talkative (B) mute (C) speechless (D) quiet
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